

Penthouse in Rabat



Rabat, North



€675,000

Reference No: 240091103-159

 Total Rooms: 7

 Floor Area (m²) : 150

 Bathrooms: 2

 Bedrooms: 3

Penthouse - For Sale - Rabat

New block of apartments with fantastic country views being launched in Rabat (Malta). Various spacious three bedroom units to choose from. This fourth floor penthouse consists of a large open plan Kitchen / Dining / Living room enjoying unobstructed country views from the spacious front terrace, three double bedrooms, one of which with an en-suite shower, a guest bathroom and a large back balcony. Currently on plan and will be sold highly finished, excluding baths and internal doors. Expected completion last quarter of 2026. Interconnected garages available at an extra cost. Freehold. Contact your agent for an on-site viewing.

Features

- ✓ Lift
- ✓ Double Glazed
- ✓ Marble Floor
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 6.5 x 4.65 m (30.23 m²)
- ✓ Bathroom : 3.45 x 1.7 m (5.87 m²)
- ✓ Double Bedroom : 4.15 x 2.85 m (11.83 m²)
- ✓ Double Bedroom : 3.55 x 3.35 m (11.89 m²)
- ✓ Double Bedroom : 3.3 x 3 m (9.9 m²)
- ✓ Bathroom Ensuite : 2.85 x 1.2 m (3.42 m²)
- ✓ Walk In Wardrobe : 1.85 x 2.3 m (4.25 m²)
- ✓ Open Space : 4.65 x 4.25 m (19.76 m²)
- ✓ Open Space : 5.5 x 1.6 m (8.8 m²)

Gallery





Genc Dapi

RE/MAX Crown - Sliema

M: 79815038

E: genc@remaxcrown.com

T: 21342410

RE/MAX Crown - Sliema

166, 169, Tower Road, Sliema, Malta